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Name

GCSE Maths

Class

AQOA (9-1) need-to-know formulae

Area of a parallelogram:

A=bxh

Area of a trapezium:

A %(a+b)h

Circumference
of a circle:

C=nd
Area of a circle:

A =nr?

Volume of a cylinder:

Pythagoras' theorem:

a’+b*=¢?

a

Gradient of a
line (m):

m=yz-ys

Equation of a
straiaht line:

y=mx+c

gradient y intercept

J \

7

Compound measures:

Speed = distance
time

Density = mass

volume 4
AL

Higher Only

Sine rule:

a b c

sinA - sinB - sinC

\ J

Volume of a prism:
V=axl
a is the area of
the cross-section

@

Higher Only

Cosine rule:

a?=b?+c?- 2bccosA

Sum of interior angles:

(n—2)x180

n is the number of
sides the shape has

L. >

Trigonometry formulas:

. (o] A
sinf = I cosf = "

opposite (O)

adjacent (A)

. s\ s

Sine area rule:

Area= %absinc

Quadratic formula:
. —b + Vb? - 4ac
- 2a

It solves the
quadratic equation:

ax:+bx+c=0

L J J A\ )
Your GCSE Mathemgﬁcs consists FOUNDOATION l—!IGHER TIER | ** Each of the 3 papers will be a mix
OLS;;:EEE': EER (%) gé’) of question styles, from short, single
ALGEBRA 20 30 -mark questions to multi-step
RATIO 25 20 problems. The mathematical de-
15 20 mand will increase as you
PROBABILITY & STATISTICS | 15 15 progresses through the paper.




GCSE Exam Dates 2024

Paper 1 Non-calculator 16th May 2024 (33.3%)

Paper 2 Calculator 3rd June 2024 (33.3%)

Paper 3 Calculator 10th June 2024 (33.3%)

Key Exam words

Estimate — Do not work out the exact answer.
Round numbers to 1 significant figure.
Simplify — Collect the like terms together or
cancel down a fraction.

Solve — Find the value(s) of (x) that makes the
equation true.

Calculate — Working out is needed.

Factorise — Take out the common factors or
factorise into two brackets if no common
factor exists.

Expand — Multiply out the bracket and
simplify if needed.

Work out — A written or mental calculation is
needed.

Write down — Written working is not
required.

Measure — Use a ruler or protractor.

Draw accurately/Construct — Use a ruler and
protractor, lengths and angles must be
accurate.

Diagram NOT accurately drawn — Don’t
measure angles or sides.

Give reasons — Worded explanations are
required

Solving Problems — Break the task down into

simple steps.

o

Liter

Octagon, Pythagoras, axis,
axes, congruent, factor,
corresponding alternate,
supplementary, index,
equilateral, multiple,
fraction, numerator,
gradient, segment,
denominator, indices,
integer, median, parallel,
parallelogram, similar,
perpendicular, product,
questionnaire, quadratic,
reciprocal, vertices, vertex,
similarity, sector,
simultaneous, tangent,
trigonometry, alternate,
transformation, obtuse,

isosceles.

J

fraction
factor

axis
gradient corresponding index

alternate .. .z

equilateral

axes

octagon numerator

pythagoras segment congruent




Hgpo View Dlthood

“The only tay to leayn
mathematicy iy to do mathematics”

Name FS & ELC
PRIME NUMBERS SQUARE NUMBERS CUBE NUMBERS TRIANGULAR
NUMBERS

A number that can
only be divided by
itselfand 1

2,3,5,7,11,13,
17, 19, 23, 29, 31,

A number that is
multiplied by itself

1,4,9, 16, 25, 36,

A number that is
multiplied by
itself twice

1,8, 27, 64, 125,

216, 343, 512
49, 64, 81, 100.. ’ ’ ’
37,39...... 729, 1000..
BIDMAS  p| [TUSINGRATIO  FRACTIONS
445 Brackets () S
+ = 0 0
! lr?d_lc.esz Add Split £100into the ; Divide by the
. DIVIS.IOI.'I 2 . Divide raAt|u1 451 bongm
Multiplication x g B 047210 (denominator).
Addition + e Di "R Mutipy by the
“ Subtraction - MU|tip|y top (numerator).
10x3=£30
UNITS AND CONVERSIONS
- x 10 +10
11cm_- 10mm — > ¢
m =100cm 1cm =10mm 1cm = 10mm
1km = 1,000m S
1kg = 1,000g 6cm = 60mm 7.5cm =75mm
1L = 1,000ml +—
x10 +10
GRAPHS
@ o .
Line graph: Bar graph:
Show data | Show group:
L that changes of data
over time
MEAN AND RANGE

4,8,5,3

Mean:4+8+5+3=20

20+4=5

Range:8-3=5

Mean (average): add all the

numbers, then divide by how

many there are
Range (variation): highest
minus lowest

°
oo LX)
o000
.. ..Q.... LLLLL)
15

10

- e
" ®
w 9@
)
> 0%

1,3,6,10, 15,21,
28, 36, 45, 55, 66,
78..

PERCENTAGES

Percent means out of a hundred.

20% of £50

20 of £50
100

50+100 x 20 = £10
PERIMETER &

AREA m-

10cm

Perimeter: add all the sides
10+10+6+6=32cm
Area: length x width

10 x 6 = 60cm?

VOLUME

1&“’“

4em

Volume:
length x width x height
10x4x2=80cm?

PROBABILITY

&

Probability of pink:

1
6

CONVERT FDP

Percentage + 100 = decimal
50% +100=0.5
Move the decimal paint 2 olaces to the
left.

Decimal x 100 = percentage
0.75x 100 = 75%
Move the decimal point 2 olaces to the
right.

Percentage to fraction
50%=50=5=1
100 10 2
Fraction to decimal

Numerator (top) + denominator
(bottom)

1a 1+4=025
P

DECIMALS

Putting decimals in
increasing order:
0.1 0.12 0.2

Rounding:
Round 0.84623 to 2
decimal places:

0.85
ANGLES |
o0 Right angle: 90°
A__) D)
Quadrilateral: /

33 Straight line: 180°

Triargle: 180° Q

Circle: 360°

MISSING
LENGTHS

4.0m

Horizontal
lines:
v S 4-2=2cm
xn Vertical lines:
5-3=2cm

Number of things you want

Total
XIIIYI
1
123 4 5
6 6 6 6 6



Functional Skills Exam Papers

Paper 1 Non-calculator 30min—25%
Paper 2 Calculator 1h30—75%
Key Exam words

Estimate — Do not work out the exact answer.
Round numbers to 1 significant figure.
Simplify — Collect the like terms together or
cancel down a fraction.

Solve — Find the value(s) of (x) that makes the
equation true.

Calculate — Working out is needed.

Factorise — Take out the common factors or
factorise into two brackets if no common
factor exists.

Expand — Multiply out the bracket and
simplify if needed.

Work out — A written or mental calculation is
needed.

Write down — Written working is not
required.

Measure — Use a ruler or protractor.

Draw accurately/Construct — Use a ruler and
protractor, lengths and angles must be
accurate.

Diagram NOT accurately drawn — Don’t
measure angles or sides.

Give reasons — Worded explanations are
required

Solving Problems — Break the task down into

simple steps.

o

Liter

Octagon, Pythagoras, axis,
axes, congruent, factor,
corresponding alternate,
supplementary, index,
equilateral, multiple,
fraction, numerator,
gradient, segment,
denominator, indices,
integer, median, parallel,
parallelogram, similar,
perpendicular, product,
questionnaire, quadratic,
reciprocal, vertices, vertex,
similarity, sector,
simultaneous, tangent,
trigonometry, alternate,
transformation, obtuse,

isosceles.

J

fraction
factor

axis
gradient corresponding index

alternate .. .z

equilateral

axes

octagon numerator

pythagoras segment congruent
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Name KS3
Class Transition
PRIME NUMBERS SQUARE NUMBERS CUBE NUMBERS TRIANGULAR
NUMBERS

A number that can
only be divided by
itselfand 1

2,3,5,7,11,13,
17, 19, 23, 29, 31,

A number that is
multiplied by itself

1,4,9, 16, 25, 36,

A number that is
multiplied by
itself twice

1,8, 27, 64, 125,

216, 343, 512
49, 64, 81, 100.. ’ ’ ’
37,39...... 729, 1000..
BIDMAS  p| [TUSINGRATIO  FRACTIONS
445 Brackets () S
+ = 0 0
! lr?d_lc.esz Add Split £100into the ; Divide by the
. DIVIS.IOI.'I 2 . Divide raAt|u1 451 bongm
Multiplication x g B 047210 (denominator).
Addition + e Di "R Mutipy by the
“ Subtraction - MU|tip|y top (numerator).
10x3=£30
UNITS AND CONVERSIONS
- x 10 +10
11cm_- 10mm — > ¢
m =100cm 1cm =10mm 1cm = 10mm
1km = 1,000m S
1kg = 1,000g 6cm = 60mm 7.5cm =75mm
1L = 1,000ml +—
x10 +10
GRAPHS
@ o .
Line graph: Bar graph:
Show data | Show group:
L that changes of data
over time
MEAN AND RANGE

4,8,5,3

Mean:4+8+5+3=20

20+4=5

Range:8-3=5

Mean (average): add all the

numbers, then divide by how

many there are
Range (variation): highest
minus lowest

°
oo LX)
o000
.. ..Q.... LLLLL)
15

10

- e
" ®
w 9@
)
> 0%

1,3,6,10, 15,21,
28, 36, 45, 55, 66,
78..

PERCENTAGES

Percent means out of a hundred.

20% of £50

20 of £50
100

50+100 x 20 = £10
PERIMETER &

AREA m-

10cm

Perimeter: add all the sides
10+10+6+6=32cm
Area: length x width

10 x 6 = 60cm?

VOLUME

1&“’“

4em

Volume:
length x width x height
10x4x2=80cm?

PROBABILITY

&

Probability of pink:

1
6

CONVERT FDP

Percentage + 100 = decimal
50% +100=0.5
Move the decimal paint 2 olaces to the
left.

Decimal x 100 = percentage
0.75x 100 = 75%
Move the decimal point 2 olaces to the
right.

Percentage to fraction
50%=50=5=1
100 10 2
Fraction to decimal

Numerator (top) + denominator
(bottom)

1a 1+4=025
P

DECIMALS

Putting decimals in
increasing order:
0.1 0.12 0.2

Rounding:
Round 0.84623 to 2
decimal places:

0.85
ANGLES |
o0 Right angle: 90°
A__) D)
Quadrilateral: /

33 Straight line: 180°

Triargle: 180° Q

Circle: 360°

MISSING
LENGTHS

4.0m

Horizontal
lines:
v S 4-2=2cm
xn Vertical lines:
5-3=2cm

Number of things you want

Total
XIIIYI
1
123 4 5
6 6 6 6 6



£ (MaTH sYMBOLS)
™ ~ >

—~— —

Addifion or pasitive I8 approxisately equal fo i3 greater than or equal fo

- <
Subtraction or regutive 5 legs than Is not equal fo
o
> 76
Multiplication 5 greater than Peccent
Key Exam words

Estimate — Do not work out the exact answer.
Round numbers to 1 significant figure.
Simplify — Collect the like terms together or
cancel down a fraction.

Solve — Find the value(s) of (x) that makes the
equation true.

Calculate — Working out is needed.

Factorise — Take out the common factors or
factorise into two brackets if no common
factor exists.

Expand — Multiply out the bracket and
simplify if needed.

Work out — A written or mental calculation is
needed.

Write down — Written working is not
required.

Measure — Use a ruler or protractor.

Draw accurately/Construct — Use a ruler and
protractor, lengths and angles must be
accurate.

Diagram NOT accurately drawn — Don’t
measure angles or sides.

Give reasons — Worded explanations are
required

Solving Problems — Break the task down into

simple steps.

Liter

Octagon, Pythagoras, axis,
axes, congruent, factor,
corresponding alternate,
supplementary, index,
equilateral, multiple,
fraction, numerator,
gradient, segment,
denominator, indices,
integer, median, parallel,
parallelogram, similar,
perpendicular, product,
questionnaire, quadratic,
reciprocal, vertices, vertex,
similarity, sector,
simultaneous, tangent,
trigonometry, alternate,
transformation, obtuse,

isosceles.

o J

fraction
factor
axis
gradient corresponding index

alternate " s

numerator

axes

multiple .
P equilateral

octagon
pythagoras

segment congruent



Hgpe Vew ool

“The only tay to leayn

Name
Class
Brackets ﬁ
l ndices
11712
:._,i'u'idl!' % 115! 4 | Start with the ones.
x 216! 154x6=924
Mulﬂplv % Q1214 154 x 20 - 3080
Ad" % 31018! 0 3080+924 - 4004 9=
4:0:0: 4
s ubtract g 111
Short Division 12x8=96
Start from the left.
T = =
|4 410 22. 1i2 04r54
= =4ar Col Method
12 2 48 6 48 = 12 =4 Starting with :h:mn — Starting with the
- & 1. 1
6=12=0rb 51816 4 ones, add each 31517 i( Z ones, subtract each
+1 21314197 columnin turn. - 314171 6| columnin turn.
Regroup tens, Exchange tens,
913,61 hundreds, thousands, 3122 6 hundreds, thousands
11141 ten thousands and/or ten thousands
Reason from Known Facts as required. as required.
90 - 10=9 s090+20=45and90+5=18
16 x 9 = 144 s01.6 x9 = 144 .
_ Common Factors Common Multiples
4352 = 17 = 256 Factors of 48 Multiples of 3
s0256%x18=4352+256 = 4608
[112]3]4[6]s|12]16]2a]as]| | 3] |18[21]2s] . |39]42]

3786 + 2850 = 6636
so 4786 + 2850 = 7636
and 2786 + 3850 = 6636
and 8636 — 3786 = 4850

Mental Calculations and
Estimation

Order of calculations:

50 % 34 = 2 =50 = 2 = 34 = 100 = 34 = 3400
Money: £8.99 + £3.49 = £12.48

Use £9 + £350 = £12 50 and subtract 2p

Factors of 30

Multiples of 7

L B o= ]

| 7 |16 [ 21 ] 28 | 35 |42 |

Common factors: 1, 2, 3, 6

w 2
m G4

il Ined

Common multiples: 21, 42...

Square Numbers

i
EARIEIRIE]
AN me

R2
valalals
NnooooROnonoo
Ui [l in| [velm|n(alE]e
i 'Irll 'rrrl BN 7 || W=
1| (1] ]m

EnG=lb Ank=lb

‘Bmm|6n

1al=¥ dndetg




/ Command words \ Literacy

Estimate — Do not work out the exact answer. Octagon, Pythagoras, axis,

Round numbers to 1 significant figure.
axes, congruent, factor,

Simplify — Collect the like terms together or

cancel down a fraction. corresponding alternate,

Solve — Find the value(s) of (x) that makes the Supplementary, index,

equation true. equilateral, multiple,

Calculate — Working out is needed.

, fraction, numerator,
Factorise — Take out the common factors or

factorise into two brackets if no common gradient, segment,

factor exists. denominator, indices,

Expand — Multiply out the bracket and - -
xpand — Multiply out the bracket an integer, median, parallel,

simplify if needed.

Work out — A written or mental calculation is parallelogram, Simﬂar’
needed. perpendicular, product,
Write down — Written working is not questionnaire, quadratic,

required.

reciprocal, vertices, vertex,
Measure — Use a ruler or protractor.

Draw accurately/Construct — Use a ruler and similarity, sector,
protractor, lengths and angles must be simultaneous, tangent,
accurate.

trigonometry, alternate,
Diagram NOT accurately drawn — Don’t

measure angles or sides. transformation, obtuse,
Give reasons — Worded explanations are isosceles.

required

Solving Problems — Break the task down into

@kﬁ, stepe, / - J

e
£ (MaATH SYMBOLS )
= = >
v -+ —~— -
Addifion or ;(-slr-'w ls lp,..wxiv.ordy equl fo 9 )}ﬁ.'urcr han or ’«’.‘Im! to
fraction
factor
axes axis <
gradient corresponding index o \ 1 L 4
O I t e r n O t e supplementary Subtraction or regative | feas than Is not oqual o
multiple equilateral
octagon numerator l® )
pythagoras segment congruent > o

Multiplication I3 greatsr than Percent



Hgpe Vew ool

“The only tay to leayn

Name
Class
Brackets ﬁ
l ndices
11712
:._,i'u'idl!' % 115! 4 | Start with the ones.
x 216! 154x6=924
Mulﬂplv % Q1214 154 x 20 - 3080
Ad" % 31018! 0 3080+924 - 4004 9=
4:0:0: 4
s ubtract g 111
Short Division 12x8=96
Start from the left.
T = =
|4 410 22. 1i2 04r54
= =4ar Col Method
12 2 48 6 48 = 12 =4 Starting with :h:mn — Starting with the
- & 1. 1
6=12=0rb 51816 4 ones, add each 31517 i( Z ones, subtract each
+1 21314197 columnin turn. - 314171 6| columnin turn.
Regroup tens, Exchange tens,
913,61 hundreds, thousands, 3122 6 hundreds, thousands
11141 ten thousands and/or ten thousands
Reason from Known Facts as required. as required.
90 - 10=9 s090+20=45and90+5=18
16 x 9 = 144 s01.6 x9 = 144 .
_ Common Factors Common Multiples
4352 = 17 = 256 Factors of 48 Multiples of 3
s0256%x18=4352+256 = 4608
[112]3]4[6]s|12]16]2a]as]| | 3] |18[21]2s] . |39]42]

3786 + 2850 = 6636
so 4786 + 2850 = 7636
and 2786 + 3850 = 6636
and 8636 — 3786 = 4850

Mental Calculations and
Estimation

Order of calculations:

50 % 34 = 2 =50 = 2 = 34 = 100 = 34 = 3400
Money: £8.99 + £3.49 = £12.48

Use £9 + £350 = £12 50 and subtract 2p

Factors of 30

Multiples of 7

L B o= ]

| 7 |16 [ 21 ] 28 | 35 |42 |

Common factors: 1, 2, 3, 6

w 2
m G4

il Ined

Common multiples: 21, 42...

Square Numbers

i
EARIEIRIE]
AN me

R2
valalals
NnooooROnonoo
Ui [l in| [velm|n(alE]e
i 'Irll 'rrrl BN 7 || W=
1| (1] ]m

EnG=lb Ank=lb

‘Bmm|6n

1al=¥ dndetg




/ Command words \ Literacy

Estimate — Do not work out the exact answer. Octagon, Pythagoras, axis,

Round numbers to 1 significant figure.
axes, congruent, factor,

Simplify — Collect the like terms together or

cancel down a fraction. corresponding alternate,

Solve — Find the value(s) of (x) that makes the Supplementary, index,

equation true. equilateral, multiple,

Calculate — Working out is needed.

, fraction, numerator,
Factorise — Take out the common factors or

factorise into two brackets if no common gradient, segment,

factor exists. denominator, indices,

Expand — Multiply out the bracket and - -
xpand — Multiply out the bracket an integer, median, parallel,

simplify if needed.

Work out — A written or mental calculation is parallelogram, Simﬂar’
needed. perpendicular, product,
Write down — Written working is not questionnaire, quadratic,

required.

reciprocal, vertices, vertex,
Measure — Use a ruler or protractor.

Draw accurately/Construct — Use a ruler and similarity, sector,
protractor, lengths and angles must be simultaneous, tangent,
accurate.

trigonometry, alternate,
Diagram NOT accurately drawn — Don’t

measure angles or sides. transformation, obtuse,
Give reasons — Worded explanations are isosceles.

required

Solving Problems — Break the task down into

@kﬁ, stepe, / - J

e
£ (MaATH SYMBOLS )
= = >
v -+ —~— -
Addifion or ;(-slr-'w ls lp,..wxiv.ordy equl fo 9 )}ﬁ.'urcr han or ’«’.‘Im! to
fraction
factor
axes axis <
gradient corresponding index o \ 1 L 4
O I t e r n O t e supplementary Subtraction or regative | feas than Is not oqual o
multiple equilateral
octagon numerator l® )
pythagoras segment congruent > o

Multiplication I3 greatsr than Percent
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“The only tay to leayn
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Name Stage 4 Maths

Class

11x2=22
12x2=24

8timestables
1x8= 8
2x8=16
3x8=24
4x8=32

12x8=96

LURLE R L .]" A ]

fafi=1 JuZed Jal=§ dpd=tg BaSedt




/ Command words \ Literacy

Estimate — Do not work out the exact answer. Octagon, Pythagoras, axis,

Round numbers to 1 significant figure.
axes, congruent, factor,

Simplify — Collect the like terms together or

cancel down a fraction. corresponding alternate,

Solve — Find the value(s) of (x) that makes the Supplementary, index,

equation true. equilateral, multiple,

Calculate — Working out is needed.

, fraction, numerator,
Factorise — Take out the common factors or

factorise into two brackets if no common gradient, segment,

factor exists. denominator, indices,

Expand — Multiply out the bracket and - -
xpand — Multiply out the bracket an integer, median, parallel,

simplify if needed.

Work out — A written or mental calculation is parallelogram, Simﬂar’
needed. perpendicular, product,
Write down — Written working is not questionnaire, quadratic,

required.

reciprocal, vertices, vertex,
Measure — Use a ruler or protractor.

Draw accurately/Construct — Use a ruler and similarity, sector,
protractor, lengths and angles must be simultaneous, tangent,
accurate.

trigonometry, alternate,
Diagram NOT accurately drawn — Don’t

measure angles or sides. transformation, obtuse,
Give reasons — Worded explanations are isosceles.

required

Solving Problems — Break the task down into

@kﬁ, stepe, / - J

e
£ (MaATH SYMBOLS )
= = >
v -+ —~— -
Addifion or ;(-slr-'w ls lp,..wxiv.ordy equl fo 9 )}ﬁ.'urcr han or ’«’.‘Im! to
fraction
factor
axes axis <
gradient corresponding index o \ 1 L 4
O I t e r n O t e supplementary Subtraction or regative | feas than Is not oqual o
multiple equilateral
octagon numerator l® )
pythagoras segment congruent > o

Multiplication I3 greatsr than Percent
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“The only tay to leayn
nathematicy iy to do mathermatics”

Name Stage 3 Maths

Class

11x2=22
12x2=24

8timestables
1x8= 8
2x8=16
3x8=24
4x8=32

12x8=96

LURLE R L .]" A ]

fafi=1 JuZed Jal=§ dpd=tg BaSedt




/ Command words \ Literacy

Estimate — Do not work out the exact answer. Octagon, Pythagoras, axis,

Round numbers to 1 significant figure.
axes, congruent, factor,

Simplify — Collect the like terms together or

cancel down a fraction. corresponding alternate,

Solve — Find the value(s) of (x) that makes the Supplementary, index,

equation true. equilateral, multiple,

Calculate — Working out is needed.

, fraction, numerator,
Factorise — Take out the common factors or

factorise into two brackets if no common gradient, segment,

factor exists. denominator, indices,

Expand — Multiply out the bracket and - -
xpand — Multiply out the bracket an integer, median, parallel,

simplify if needed.

Work out — A written or mental calculation is parallelogram, Simﬂar’
needed. perpendicular, product,
Write down — Written working is not questionnaire, quadratic,

required.

reciprocal, vertices, vertex,
Measure — Use a ruler or protractor.

Draw accurately/Construct — Use a ruler and similarity, sector,
protractor, lengths and angles must be simultaneous, tangent,
accurate.

trigonometry, alternate,
Diagram NOT accurately drawn — Don’t

measure angles or sides. transformation, obtuse,
Give reasons — Worded explanations are isosceles.

required

Solving Problems — Break the task down into

@kﬁ, stepe, / - J

e
£ (MaATH SYMBOLS )
= = >
v -+ —~— -
Addifion or ;(-slr-'w ls lp,..wxiv.ordy equl fo 9 )}ﬁ.'urcr han or ’«’.‘Im! to
fraction
factor
axes axis <
gradient corresponding index o \ 1 L 4
O I t e r n O t e supplementary Subtraction or regative | feas than Is not oqual o
multiple equilateral
octagon numerator l® )
pythagoras segment congruent > o

Multiplication I3 greatsr than Percent
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“The only ey to leayn
rnathematicy iy to do mathermatics”

Stage 2 Maths

Name

Class

Addition and Subtraction Bonds to 20

20 15+ 5=20 17 7+5=12
15 20-5=15 12-5=7
20-15=5 7 5 12_7=5
e T
000000001234567591011121314131&1?18192
4+3=7 15-7=8
Mental Methods

Add 2-digit and 1-digit Add 2-digit numbers Subtract 2-digit numbers

/lﬁl\‘/ml\‘/l*_ll&/?&/?\’/*_ﬂ\‘ Tens | Ones 34 + 28 = 62 62 - 28 = 34 Compare Number Sentences
T T 7T v g -

27+ 6= 33 E - 3 tens and 4 ones 6+ b<b65
oo, —=— | B8 | EEE - e e e s e
27 8 29 30 3 iz 33 EE 1| ] & [m] 5+3-6+2
- 5o HIE £ ;7 2 tens and 8 ones % Related facts

-digi iai i 5+4=95050+40 = 90
; ﬁuhﬁct .1_1 _dlg.l: f roT 2 digit - equals 6 tens and 2 ones becomes

FENENENENENGEN  [Tens [ ones Hl
S A S S S | i H 5tensand 12 ones | 5tens and 12 ones subtract H i

33-6=27 i Add 3 1-digit numbers
B = = S ﬁ@ mls becomes 2 tens and 8 ones equals o 0 0 o o o o o
S s s cn:n@ il 6 tens and 2 ones | 3tensand & ones 9+5+3=17

Addition and Subtraction Bonds to 100

2+8=10

so 20 + 80 =100 g

32 +68 =100

3 tens and 2 ones + 6 tens and 8 ones
= 9 tens and 10 ones = 10 tens =one hundred

w

More or Less/ Add and Subtract 1s and 10s
Check Calculations
Add and subtract 1s 10 More or Less Add and Subtract 10s

2 +1=25 30 | 20 | 50 | 80 | 70 | 30 | 0 l 0 ] =0 l . ‘ 20 ‘ | 19 | 32 +5=282x Spotthat5 tens 37 -4 =41 x Spot that if subtracting

have b dded not 5 4th ill be ller.

2% +2=26 - - o - = o 3 3 P 9 | 1 8 | lave Deen added nof ones e answer wi e smaller.

24 +3=27 The ones gt stays the same. — 198 =11 can be checked using 8 + 11 =19 2326 =12 x Spot that 28 and 26 arevery 68 - 40 = 64 x Spot that & ones have
m ) close together, so difference won't be 12. been subtracted and not & tens.
[e]zs[we [z [a]2[o]a] | e | & z

37-1=36 EEEE + 40

T i

= B 6 T
37-3-3 : o3 H B H o B B B B EE
Py Tens | Ones . é % o2 B HR B 2322
33 34 35 36 37 38 4h 54
e 30 -ttt 1Tttt 1Tt 17T T 1 1T 1 171"
There are 7 flowers Take care when 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 16 17 18 19 20
na Vése'djnj crossing hundreds: “2 zero two four six eight ten twelve fourteen sixteen eighteen twenty
more (s added. . . . . .
Now there are 8 (8 [ 96 [10e [ 16 Crossing hundreds: one three five seven nine eleven thirteen fifteen seventeen nineteen
flowers. (72 [ oa [e 132 ]




Command words

Estimate — Do not
work out the ex-
act answer.
Round numbers
to 1 significant
figure.

Simplify — Collect
the like terms to-
gether or cancel
down a fraction.
Solve — Find the
value(s) of (x)
that makes the
equation true.
Calculate —
Working out is
needed.

Factorise — Take
out the common
factors or
factorise into two
brackets if no
common factor

exists.

Liter

hundreds

Add
Total

tens

Make
Plus
Sum

ones

More
Altogether

Zero

Difference
Leave

place value

Subtract
Difference between

greater than

Less

Minus

less than

Take away
Mentally, Orally

order

Column Addition

Column Subtraction

Estimate

partition

Inverse operation
Solve problems

digit

Expand — Multiply out the bracket and
simplify if needed.
Work out — A written or mental calcula-

rigonometry

sector obtuse isosceles
OPIISE fraction
simultaneous
factor
xis transformation
gradient correspond ng

olternote

rrrrrrrr

index
supplementary

multiple .
angent P& squilateral

octagon

pythagoras congruent

Number facts
Place Value

& (MATH SYMBOLS )
e+ = 2
Addiion or positive |5 approxisately equal fo s greater than or squal o
e < H
Subtraction or regative 5 fegs than Is not oqual fo
7%
> o

Muttiphication 5 greater than Percent



